ATV IT 09 v—
FSTE G1/4-AG 50
HE3—F.:10.01.02. 00568

https://www. schmalz. co. jp/10.01. 02. 00568

R—LR—T > BFREREERS > EXZHH
> ¥ — FSTE > FSTE G1/4-AG 50

> BHERE (RO FILAVE)

GOEVIRTIIHET,. BEMERRERATIVITF09 v —

Nl
<
A
\0
Nl
I
W

(9}
[

——Sw2z

H
LG3
LG1

SW1

H2
LG2

SW3

M

TIO=ZANTF—2%2
ik

INRER

WEANR A
EVRVAE

EAER=R0]

KE&T

rrEE

aATIILYANDBRENEDLE

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 |

schmalz@schmalz. co. jp

EZ/\y R G1/47-M

EZefEO: G1/8-F
A bB—% Z: 50 mm

B
G1
G2
G3

H

H2
LG1
LG2
LG3
SW1
SW2
SW3
Z (R+bBE—7)

fig

0.452 N/mm
1.40 N
12.70 N
2400 N
466 N

175 g

SCHMALZ
~——

i

G1/8-F
G1/4"-M
M20x1. 5-M
115.50 mm
70 mm

13 mm
8.50 mm
40 mm

24 mm

17 mm

17 mm

50 mm

>RINVUGTSoTxw— > RTYLTTS

DI

10


https://www.schmalz.co.jp/ja-jp/
https://www.schmalz.co.jp/ja-jp/category/PGE-00000
https://www.schmalz.co.jp/ja-jp/category/PGE-00155
https://www.schmalz.co.jp/ja-jp/category/PGE-00156
https://www.schmalz.co.jp/ja-jp/category/PGE-00189
https://www.schmalz.co.jp/ja-jp/category/PGE-00025
https://www.schmalz.co.jp/ja-jp/category/PGE-00025
https://www.schmalz.co.jp/ja-jp/

A7V GTS509 v — SCHMALZ
FSTE G1/4-AG 50
HEa— K. :10.01.02. 00568

https://www. schmalz. co. jp/10.01.02. 00568

1EENEE 0~80°C
MEITFI)— FSTE

HKALAFR EO—=9H50 hDEDETY, XEEFREFFILEBRORAFETY, XKEFER., KEARTOFERREIC, NRAEVT
KEDTS 0O v —DTFIHRITHNTONDERDRAETY ., FHLE) . ChUEOARE, 5300 v—0OBESICHEE52FT.

7oty
FLK G1/4-1G G1/4-AG
B&2— K. :10.01.03.00178

2 G1: G1/4-F
> G2 G1/4"-M
EENRE: 0 ~ 70 ° C

KGL G1/4-1G G1/4-AG
&3 — K. :10.01.03.00110

*< G1: G1/4-F
=2 62: G1/4"-M
&& H: 37.5 mm

aATIILYANDBRENEDLE
Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 | R—=T:2/
schmalz@schmalz. co. jp

10


https://www.schmalz.co.jp/ja-jp/

ATV IT 09 v—
FSTE G1/4-AG 50
HE3—F.:10.01.02. 00568

https://www. schmalz. co. jp/10.01. 02. 00568

DaAvILYANDBRENEDE

SCHMALZ
~—

KGL G1/4-1G M10x1. 25-AG
#HE3— K. :10.01.03.00137

=< G1: G1/4-F
% G2: M10x1.25-M
=& H: 37.5 mm

FLK G1/4-1G M10x1. 25-AG
&3 — K. :10.01.03. 00206

¥ G1: G1/4-F
T G2 M10x1. 25-M
EENRE: 0 ~ 70 ° C

HTR-STA 55 1N D20 Wi
&3 — K. :10.08. 03. 00086

£ L: 55 mm
BH: ROy by b 1A

BENY R, RTYUT TS50 0 v—0HEHE: ©20 nm Fi=
IEG1/41=x 7

THA 2 angled

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 | R—: 3/

schmalz@schmalz. co. jp

10


https://www.schmalz.co.jp/ja-jp/

ATV IT 09 v—
FSTE G1/4-AG 50
HE3—F.:10.01.02. 00568

https://www. schmalz. co. jp/10.01. 02. 00568

DaAvILYANDBRENEDE

HTR-UNI 2N FSTE-HDB
&3 — K. :10.01. 03. 00332

EBRE: ° C
FTH 4 > FSTE-HDBA
JORE—LESHK: T-2OY + 2D

ST G1/8-AG 4 MS-ROH
&3 — K. :10.08.03.00153

* G1: G1/8-M
HEA—ZXANE d 4 mm
ME: EiR

RE: &

£ L 4mm

R AR—X5ME dn: 2.5 mm

ST G1/8-AG 6 MS-V
g — K. :10.08.03.00154

=< G1: G1/8-M
HEREAR—ZAFE d: 6 mm

ME: B
RE: ZwTILAYF
£& L 5mm

BfR—RHME dni 4.4

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 |

schmalz@schmalz. co. jp

SCHMALZ
~—

R—=D: 4/

10


https://www.schmalz.co.jp/ja-jp/

ATV GTTUT v -

FSTE G1/4-AG 50
& — K. :10.01.02. 00568

https://www. schmalz. co. jp/10.01.02. 00568

aATIILYANDBRENEDLE

ST G1/8-AG 9 MS-V
HE3— K. :10.08. 03.00155

= G1: G1/8-M
HEREAR—ZXAFE d 9 mm

ME: B
RE: ZwTILAYE
E&L:5mm

EHAR—R5E dn: 4 mm

STV-GE G1/8-AG 4
&3 — K. :10.08. 02. 00202

*< G1: G1/8-M
R—XE 4 mm

ME: Bk
EEBRE: -20 ~ 80 ° C
S44% D: 7.9 mm

£ L 13.7 mm

STV-GE G1/8-AG 6
Part no.. :10.08. 02. 00204

* G1: G1/8-M
R—RE 6 mm

ME: B

EENEE: -20 ~ 80 ° C
4% D: 11.4 mm

£ L 16.4 mm

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 |

schmalz@schmalz. co. jp

.,
SCHMALZ
T

R—=D: 5/

10


https://www.schmalz.co.jp/ja-jp/

e N
RTVIT 209 v— SCHMALZ
FSTE G1/4-AG 50
HE3—F.:10.01.02. 00568
https://www. schmalz. co. jp/10.01. 02. 00568

STV-GE G1/8-AG 8
Part no.. :10.08. 02. 00206

* G1: G1/8-M
R—ZFE: 8 mm
ME: iR
1EEEE: ° C
4% D: 14 mm
£ L 20.7 mm

STV-W G1/8-AG 4
Part no.. :10.08.02.00156

* G1: G1/8-M
R—RE: 4 mm
ME: ER-vTILAYE
EENERE: -20 ~ 80 ° C
£ L 16.4 mm

STV-W G1/8-AG 6
Part no.. :10.08.02. 00158

* G1: G1/8-M
R—ZXF: 6 mm
ME: ER=v7TILAUx
EBNEE: -20 ~ 80 ° C
£ L:20.1 mm

aATIILIYNDOEBNEDLYE
Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 | R—U:6/ 10

schmalz@schmalz. co. jp


https://www.schmalz.co.jp/ja-jp/

ATV TT 09 v —
FSTE G1/4-AG 50
W& a— K. :10.01.02. 00568

https://www. schmalz. co. jp/10.01.02. 00568

DaARLIANDEBNEDE

STV-W G1/8-AG 8
Part no.. :10.08.02. 00160

*< G1: G1/8-M
R—ZFE: 8 mm

ME: BEffi=vTILAvFx
EENRE: -20 ~ 80 ° C
K& L 24 mm

STV-GE G1/8-AG 6 HT
Part no.. :10.08. 02. 00389

* G1: G1/8-M
R—XFE: 6 mm

ME: EiR

1EENEE: -20 ~ 120 ° C
5442 D: 11.6 mm

K& L 19 mm

STV-W G1/8-AG 6
Part no.. :10.08. 02. 00288

= G1: G1/8-M
R—ZFE: 6 mm
ME: TSRFYY
EENRE: ° C
K& L 20.8 mm

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 |

schmalz@schmalz. co. jp

SCHMALZ
~——

R=2: 7/

10


https://www.schmalz.co.jp/ja-jp/

ATV GT509 % —

FSTE G1/4-AG 50
& — K. :10.01.02. 00568

https://www. schmalz. co. jp/10.01.02. 00568

aATIILYANDBRENEDLE

STV-W G1/8-AG 6 HT
Part no.. :10.08.02. 00391

* G1: G1/8-M
R—ZFE: 6 mm

ME: iR
EERE: -20 ~ 120 ° C
K& L 225 mm

STV-WF G1/8-AG 4
Part no.. :10.08.02.00166

* G1: G1/8-M
R—RE: 4 mm

ME: ER-vTILAYE
EBERE: -10 ~ 70 ° C
£ L 17.4 mm

STV-WF G1/8-AG 6
Part no.. :10.08.02. 00168

< G1: G1/8-M
R—ZFE: 6 mm
ME: BER-vTILAvE
EENRE: -10 ~ 70 ° C
£ L 214 mm

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 |

schmalz@schmalz. co. jp

.,
SCHMALZ
T

R—D: 8/

10


https://www.schmalz.co.jp/ja-jp/

e N
RTVIT 209 v— SCHMALZ
FSTE G1/4-AG 50
HE3—F.:10.01.02. 00568
https://www. schmalz. co. jp/10.01. 02. 00568

STV-WF G1/8-AG 8
Part no.. :10.08.02.00170

* G1: G1/8-M
R—ZFE: 8 mm
ME: BER=-vTILAvE
EBEE: -10 ~ 70 ° C
K& L 23.4mm

STV-WF G1/8-AG 10
Part no.. :10.08.02. 00257

T G1: G1/8-M
R—XE: 10 mm
ME: ER-vTILAYE
EBERE: -10 ~ 70 ° C
£ L 25.2 mm

STV-T G1/8-AG 4
Part no.. :10.09. 02. 00039

T G1: G1/8-M
R—ZEFE 4 mm
ME: iR
EENRE: ° C
£ L 32.5mm

aATIILIYNDOEBNEDLYE
Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 | R—:0/ 10

schmalz@schmalz. co. jp


https://www.schmalz.co.jp/ja-jp/

ATV GT509 % —

FSTE G1/4-AG 50
& — K. :10.01.02. 00568

https://www. schmalz. co. jp/10.01.02. 00568

Spare parts

DaARLIANDEBNEDE

.,
SCHMALZ
T

STV-T G1/8-AG 6
Part no.. :10.09. 02. 00040

*< G1: G1/8-M
R—ZFE: 6 mm
ME: B
EBRE: ° C
K& L 41.5mm

STV-T G1/8-AG 8
Part no.. :10.09. 02. 00041

*< G1: G1/8-M
R—XFE: 8 mm
ME: 'R
EBEE: ° C
£ L 48.7 mm

DRUCK-FED 1. 1x15.7 68. 08 0. 453
Part no.. :20.08. 02. 00231

E& L: 68.08 mm
INARTESR: 0.453 N/mm

Schmalz K.K. | 3001-7 Odana-cho, Tsuzuki-ku, 224-0027 Yokohama, Japan | +81 45 565 5150 | R—:0 10 /

schmalz@schmalz. co. jp

10


https://www.schmalz.co.jp/ja-jp/

